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OEMA B)

B1.

o) Mua bétnta eival to am

B)

def perasa_mathima(self,p):
self.credits = self.credits + p

V)

foititis1= Foititis (103 , “Kwvotavtivou”,0)

5)

foititisl.perasa_mathima(5)

B2.

1° népaopa: 15534522

2° népaopa: 12553452

3° népaopa: 12255345

4° népoopa: 12255534
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5°népaopa: 12253455

B3.

Oa epdavioet:

To x elvat 100

To tormko ¥ dMhake o 2

To x elvat akopa 100

OEMAT)
pl2=0
el=-100
athr=0.0

for iin range (35):

onoma=raw_input(“dwse onoma”)

pl=0

xronos = int(input(“dwse xrono” )

while pl < 4 and xronos > 180:

pl+=1

xronos = int(input(“dwse xrono” )

if pl <=4:

print onoma

pl2+=1

athr+= xronos

if xronos < el :

el = xronos

elonoma=onoma

else :
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print “ MH ZYMMETOXH"
print athr/ pl2, elonoma
GEMA A)
vagonia = int (input(“dwse vagonia”)
QUE =]
A=(]
pl3=0
ogkos = float (input(“dwse ogko”))
while ogkos =0 :
QUE.append(ogkos)
ogkos = float (input(“dwse ogko”))
while len(QUE) != 0 and vagonia >0:
pl=0
athr=0.0
while QUE[0]+athr <= 2000:
athr+= QUE.pop(0)
pl+=1
print pl, athr
A.append(athr)
vagonia -=1
pl3+=1
if len(QUE) ==0:
athr2=0.0
for item in A:
athr2+=item
print athr2, pl3

else:
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print len(QUE)

athr3=0.0

for item in QUE:
athr3+= item

print athr
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